

CITY OF LA VISTA
MAYOR AND CITY COUNCIL REPORT
FEBRUARY 7, 2023 AGENDA

| Subject: | Type: | Submitted By: |
|--|---|-----------------------------|
| AUTHORIZE PURCHASE – TRAINING SIMULATOR | ◆ RESOLUTION ORDINANCE RECEIVE/FILE | BOB LAUSTEN POLICE CHIEF |

SYNOPSIS

A resolution has been prepared to authorize the purchase of an interactive training simulator and on-site training from Digimation/DART Range, Lake Mary, FL in an amount not to exceed \$33,000.

FISCAL IMPACT

Funding is provided through the Department of Justice Grant Award.

RECOMMENDATION

Approval.

BACKGROUND

The Police Department received a Department of Justice grant to support the de-escalation training by use of a training simulator. The DART simulator has been identified as the best choice for the department. Grant award funds will cover the purchase and acquisition of the training simulator as well as on-site training. The equipment is priced at \$29,200 and estimated training costs are \$3,800 for a total of \$33,000.

RESOLUTION NO. ____

A RESOLUTION OF THE MAYOR AND CITY COUNCIL OF THE CITY OF LA VISTA, NEBRASKA APPROVING THE PURCHASE OF AN INTERACTIVE TRAINING SIMULATOR AND ON-SITE TRAINING FROM DIGIMATION/DART RANGE, LAKE MARY, FL IN AN AMOUNT NOT TO EXCEED \$33,000.00.

WHEREAS, the City Council of the City of La Vista has determined on-going training of police department is necessary, and

WHEREAS, the Police Department received a "de-escalation" specific grant award from the Department of Justice in the amount of \$75.000, and

WHEREAS, funding within the grant allows for acquisition of a training simulator and on-site training, and

WHEREAS, Subsection (c) of Section 31.23 of the La Vista Municipal Code requires that the City Administrator secure Council approval prior to authorizing any purchase over \$5,000.00.

NOW, THEREFORE, BE IT RESOLVED, that the Mayor and City Council of La Vista, Nebraska, do hereby approving the purchase of an interactive training simulator and on-site training from Digimation/DART Range, Lake Mary, FL in an amount not to exceed \$33,000.00.

PASSED AND APPROVED THIS 7TH DAY OF FEBRUARY 2023.

CITY OF LA VISTA

Douglas Kindig, Mayor

ATTEST:

Pamela A. Buethe, MMC
City Clerk

**From:**

Remit Payment To | checks payable to "Digimation"

Digimation | DART Range
4300 W. Lake Mary Blvd.
Suite 1010 #405
Lake Mary, Florida 32746
(407) 833-0600
Federal Tax ID 72-126 2714

| | |
|--------------|-------------------|
| Quote Number | 1342-7699 |
| Quote Date | January 23, 2023 |
| Valid Until | February 28, 2023 |
| Total | \$3,500.00 |

To:

La Vista Police Department
kgomon@cityoflavista.org

| Hrs/Qty | Service | Rate/Price | Sub Total |
|---------|---|------------|------------|
| 1 | DART Technical Training 1 Day hardware & software training on the DART system at customer location for 1-2 people. **travel expenses to be invoiced separately based on current travel pricing with no markup - if required** | \$2,000.00 | \$2,000.00 |
| 1 | Travel Expenses Includes all travel expenses related to the training (i.e. airfare, lodging, food, etc.) This quote is based on travel scheduled 60+ days from receipt of purchase order. | \$1,500.00 | \$1,500.00 |

| | |
|--------------|-------------------|
| Sub Total | \$3,500.00 |
| Tax | \$0.00 |
| Total | \$3,500.00 |

Questions? Contact Dave Nielsen at daven@dartrange.com or (407) 280-1169.

FREE DART Technical Training offered in Lake Mary, Florida (within 1 year of purchase)

7% sales tax for all Florida businesses without tax-exempt status.

3% processing fee will be added for credit card payments



Quote

From:

Remit Payment To | checks payable to "Digimation"

Digimation | DART Range
4300 W. Lake Mary Blvd.
Suite 1010 #405
Lake Mary, Florida 32746
(407) 833-0600
Federal Tax ID 72-126 2714

| | |
|--------------|--------------------|
| Quote Number | 1311-7321 |
| Quote Date | October 17, 2022 |
| Valid Until | January 31, 2023 |
| Total | \$29,200.00 |

To:

La Vista Police Department
kgomon@cityoflavista.org

| Hrs/Qty | Service | Rate/Price | Sub Total |
|---------|--|------------|-------------|
| 2 | DART ST System DART system with short-throw camera assembly. | \$7,500.00 | \$15,000.00 |
| 2 | Short-throw Projector with Speaker Short-throw projector with cables, and portable enhanced speaker with noise filter. | \$1,500.00 | \$3,000.00 |
| 1 | DART Studio Software with enhanced capabilities for creating scenario-type situations using realistic-looking TruTargets. | \$2,000.00 | \$2,000.00 |
| 2 | DART Training Academy *Discounted \$2000 below* Individual training modules consisting of video instruction and customized drills designed to focus on specific real-world learning objectives. | \$3,000.00 | \$6,000.00 |
| 1 | Visible Weapon *Discounted 100% below* Simulates the mechanics of the Glock 19 including its individual parts, function, field stripping, and cycle of operation. | \$500.00 | \$500.00 |
| 1 | Pistol Drills *Discounted 100% below* 30 assorted pistol drills. | \$500.00 | \$500.00 |
| 1 | DART 2-year Extended Warranty *Discounted 100% below* Adds 2 years to standard 1-year warranty, for a total of 3 years | \$500.00 | \$500.00 |
| 2 | Blackbeard AR-15 Conversion Kit Conversion kit for AR-15 rifle. Only for gas-operated systems. | \$300.00 | \$600.00 |
| 4 | Laser Training Weapon - equivalent to GLOCK 19 Gen5 GLOCK 19 Gen5 form training weapon with IR laser | \$700.00 | \$2,800.00 |
| 8 | Extra Magazine Extra magazine for training weapon | \$50.00 | \$400.00 |
| 2 | Travel Package Wheeled travel case, multi-port surge suppressor, extension power cable | \$500.00 | \$1,000.00 |
| 2 | Shipping UPS Ground | \$200.00 | \$400.00 |

| | |
|-----------|--------------------|
| Sub Total | \$32,700.00 |
| Tax | \$0.00 |
| Discount | -\$3,500.00 |



Quote

| Total | \$29,200.00 |
|-------|-------------|
|-------|-------------|

Questions? Contact Dave Nielsen at daven@dartrange.com or (407) 280-1169.

FREE DART Technical Training offered in Lake Mary, Florida (within 1 year of purchase)

7% sales tax for all Florida businesses without tax-exempt status.

3% processing fee will be added for credit card payments
